ZCA 110(B) 

Calculus and Linear Algebra

Semester I, Sessi 2007/08

QUIZ 2 (2 Aug 2007)

Total = 12 marks

Nama: 

No. Kad Matriks:

Q1 
Consider the 3(3 matrix A as given below.   
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(a) What is the adjoint of matrix A? Show your working.






   
  [5 marks]

(b) What is the determinant of matrix A? Show your working. 




      [5 marks]

(c) What is the inverse of A?












  
  [2 marks]
Solution

(a) 
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[5 marks]

(b)  Det [A] = 0;















[5 marks]
(c) 
The inverse of A does not exist











[2 marks]
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